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QUESTION 1

A client using AEM 6.5 on-premise is experiencing an unsustainable repository growth of 100Gb a day. After
investigation, an Architect finds out that the DAM is causing this issue. Each image uploaded to the DAM triggers the
creation of approximately 100 renditions, necessary by business to consume in different channels and systems. The
client also complains about stale content reported by site visitors happening randomly in pages where article-related
components are present. 

How should the Architect address these issues? 

A. Leverage AEM Adaptive Image Servlet, cache image variations in Dispatcher, and reimplement article-related
components to use AJAX to load the content 

B. Split WCM and DAM in separate instances, set up Connected Assets, and re-implement article-related components
to use AJAX to load the content 

C. Leverage AEM Adaptive Image Servlet cache image variations in Dispatcher, and implement a cache TTL in
Dispatcher 

D. Split WCM and DAM in separate instances, set up Connected Assets, and implement a workflow to purge all pages
affected by an article change in Dispatcher 

Correct Answer: B 

 

QUESTION 2

In a client\\'s test environment AEM QA Testers from multiple groups and regions are testing and making requests to the
AEM application. Due to the sheer number of hosts making connections, an Architect needs a quick and easy way to
allow any hosts to make requests to the AEM application. 

Which approach should the Architect take to meet this requirement for this non-production environment? 

A. Add GET as a Filter Method in the Apache Sling Referrer OSGi Configuration 

B. Use Allowlists instead of Blocklists in the Dispatcher Configuration 

C. Restrict Clients that can flush the cache in the Dispatcher Configuration 

D. Enable Allow Empty in the Apache Sling Referrer OSGi Configuration 

Correct Answer: A 

 

QUESTION 3

An Architect is performing infrastructure and capacity planning for Author servers for a customer using AEM 6.5. Which
two factors would lead the Architect to pick a multi-author instance architecture setup? (Choose two.) 

A. Website Traffic handled by servers 

B. Fail safeness of the servers 
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C. Number of Parallel Authors 

D. Cache Efficiency on the dispatcher 

E. Types of actions performed by Authors 

Correct Answer: BD 

 

QUESTION 4

A customer has a website with 10,000 pages and wants to improve performance. Which option should be used? 

A. Specify a wildcard allow rule in the invalidate section 

B. Advise to use URL parameters instead of sling selectors 

C. Decrease .stat file level from the default 

D. Increase .stat file level from the default 

Correct Answer: B 

 

QUESTION 5

A retail customer with an international presence and both in-store and online sales needs a new assets platform. The
customer decides to use Aassets. The customer\\'s sites will continue to run on their proprietary CMS for websites. The
customer wants to be able to scale the platform for spikes in user traffic such as on local sales or online marketing
campaigns. Under some circumstances, the customer also has a higher load of editors for a certain period of time.
Which architecture should an Architect use for this business case? 

A. An AEM Publish instance on Adobe Managed Services with auto scaling 

B. An AEM as a Cloud Service Sites with Dynamic Media 

C. An AEM Assets setup on Adobe Managed Services with Cloud Manager 

D. An AEM as a Cloud Service Assets setup using the combined CDN for delivery 

Correct Answer: C 
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